TITUS COUNTY
CULVERTS - BID # 2022-005
22-Aug-22

Dates of Public Notice in Local Newspaper

July 27, 2022 and August 3, 2022

Deadline for Bids Delivered to County Auditor's Office

8/15/2022 at 4:30 PM

Date Bids Opened

16-Aug-22

Bids Received, Date Received, Time Received, Method of Delivery

National Wholesale Supply Jeremy Owens, Manager August 10, 2022 at 3:41 PM Hand Delivered

This is the only bid received,

Contract Effective Dates

This bid is scheduled to be presented for approval in Commissioners' Court on August 22, 2022. It is for a 1 year contract with option to renew for 2 additional year upon agreement by vendor and County. Bid is initially effective September 1, 2022 upon approval by ARPA Grant Administrator, Traylor & Associates.

SUMMARY OF BID ITEMS

Responses were not received on each type of culvert requested. This summary includes all of the responses that were returned.

FOB LOCATION & ADDRESS FOR PICK UP

Nat'l Wholesale - 1405 W Ferguson Road, Mt. Pleasant, TX

NON COLLUSION AFFIDAVIT:

CONFLICT OF INTEREST:

YES

GENERAL LIABILITY INSURANCE: NO

Commissioners to determine the need for insurance when Titus County picks up a product.

6/2/8

CULVERTS:

Nat'l

Wholesale

TYPE OF CULVERT

Bid Price

PLASTIC CULVERTS - DOUBLE WALL - PRICE PER FOOT
PICKED UP AT NATIONAL WHOLESALE SUPPLY IN MT. PLEASANT
THERE IS NOT AN OPTION FOR DELIVERY.

Diameter

12 Inches	\$7.205
15 inches	\$10.568
18 inches	\$14.307
24 inches	\$23.375
30 inches	\$33.330
36 inches	\$44.341
42 inches	\$60.466
48 inches	\$64.750
60 inches	\$122.568

National Wholesale also provide a Quotation Sheet that is 3 pages long and lists various sizes and types of culverts that are available.

Those pages are attached to this tabulation and represent pages 3, 4, and 5 of this document.

Bids are on file in the auditor's office and are available for review and audit.

Barbara Shurbet, Titus County Auditor

Thus County Auditor 8-19-22

Date

NATIONAL WHOLESALE SUPPLY BR28 1405 WEST FERGUSON ROAD MOUNT PLEASANT, TX 75455 Phone 903-577-5640 Fax 903-577-5697

Quotation

EXPIRATION DATE	QUOTE NUMBER	
08/03/2022	S4053571	
NATIONAL WHOLESALE SUPPLY BR28		PAGE NO.
1405 WEST FERGUSON ROAD MOUNT PLEASANT, TX 75455 Phone 903-577-5640 Fax 903-577-5697		1 of 3

QUOTE TO:

SHIP TO:

TITUS COUNTY 100 W FIRST ST, STE 106 MOUNT PLEASANT, TX 75455 TITUS COUNTY 100 W FIRST ST, STE 106 MOUNT PLEASANT, TX 75455

CUSTOMER NUMBER	CUSTOM	ER PO NUMBER	JOB NAME / RELEASE NU	MBER	SA	ALESPERSON
22678					_	HOUSE
WRITER		SHIP VIA	TERMS	SHI	P DATE	FREIGHT ALLOWED
JEREMY OW	/ENS		NET 10TH PROX	08/0	02/2022	No
ORDER QTY		DESCRIPTI	ON	UNIT	PRICE	EXT PRICE
20ft	SOIL TITE I	W ADS 12 x 20 N12 : B SOLID DUAL WAL	20000 (2000) (2000) (2000)		7.205/ft	144.10
	SOIL TITE I	W ADS 15 x 20 N12 : B SOLID DUAL WAL	A THE CONTRACT OF THE CONTRACT		10.568/ft	211.36
20ft	SOIL TITE I	W ADS 18 x 20 N12 S B SOLID DUAL WAL		•	14.307/ft	286.14
20ft	SOIL TITE II	W ADS 24 x 20 N12 B SOLID DUAL WAL		2	23.375/ft	467.50
20ft	SOIL TITE II	V ADS 30 x 20 N12 S 3 SOLID DUAL WAL		3	33.330/ft	666.60
20ft	SOIL TITE IE	V ADS 36 x 20 N12 S 3 SOLID DUAL WAL		2	14.341/ft	886.82
20ft	SOIL TITE IE	V ADS 42 x 20 N12 S 3 SOLID DUAL WAL	1	6	60.466/ft	1209.32
20ft /	SOIL TITE IE	V ADS 48 x 20 N12 S SOLID DUAL WAL		6	64.750/ft	1295.00
20ft (V ADS 60 x 20 N12 S SOLID DUAL WAL E		122	2.568/ea	2451.36

^{**} Continued on Next Page **

NATIONAL WHOLESALE SUPPLY BR28 1405 WEST FERGUSON ROAD MOUNT PLEASANT, TX 75455 Phone 903-577-5640 Fax 903-577-5697

Quotation

E	EXPIRATION DATE	QUOTE NUMBER	PAGE NO.
	08/03/2022	S4053571	2 of 3

ORDER QTY	DESCRIPTION	UNIT PRICE	EXT PRICE
30f	12950030DW ADS 12 x 30 N12 DOUBLE	7.205/ea	216.15
	WALL PIPE PLAIN END Your #		
	12950030DW		
30ea	15950030DW ADS 15 x 30 N12 STORM	10.568/FT	317.04
	SOLID DUAL WALL PLAIN END		
30ft	18950030DW ADS 18 x 30 N12 DOUBLE	14.307/ft	429.21
	WALL PIPE PLAIN END		
30ft	24 950030DW ADS 24 x 30 N12 DOUBLE	23.375/ft	701.25
	WALL PIPE PLAIN END		
30ft	309500300DW ADS 30 x 30 N12 STORM	33.330/ft	999.90
	SOLID DUAL WALL PLAIN END PIPE		
30ft	36950030DW ADS 36 x 30 N12 STORM	44.341/ft	1330.23
30ea	42950030DW ADS 42 X 30 N12 STORM	60.466/FT	1813.98
	WATER TITE IB SOLID DUAL WALL		
30ea	48950030DW ADS N12 STORM SOLID DUAL	64.750/FT	1942.50
	WALL PLAIN END		
30ft	60950030DW ADS 60 x 30 N12	122.568/ft	3677.04
	DUAL-WALL PLAIN END		
	BELOW ARE 24'WHEN AVAILABLE		
24ft	12950024 DW ADS 12 x 24 N12 STORM	7.205/ft	172.92
	IB SOLID DUAL WALL PIPE		
24ft	15950024 DW ADS 15 x 24 N12 STORM	10.568/ft	253.63
	WATER TITE IB SOLID DUAL WALL		
24ft	18950024 DW ADS 18 x 24 N12 STORM	14.307/ea	343.37
	WATER TITE IB SOLID DUAL WALL BELL		
	& SPIGOT PIPE		
24ft	24 950024 DW ADS 24 x 24 N12 STORM	23.375/ea	561.00
	IB SOLID DUAL WALL PIPE		
24ea	30950024 DW ADS 30 x 24 N12 STORM	33.330/ea	799.92
	PIPE		
24ea	36950024 DW ADS 36 X 24 N12 STORM	44.341/FT	1064.18
	PIPE		
24ea	42950024 DW ADS 42 X 24 N12 STORM	60.466/FT	1451.18
	WATER TITE IB SOLID DUAL WALL		
	48950024 DW ADS 48 X 24 N12 STORM	64.750/FT	1554.00
	WATER TITE IB SOLID DUAL WALL		
24ea	60950024 DW ADS 60 X 24 STORM	122.568/FT	2941.63
	WATER TITE IB SOLID DUAL WALL		
	SPLIT COUPLERS		
1ea	1265AA ADS 12 SPLIT COUPLER	15.443/ea	15.44
	(200/PALLET)		
	1565AA ADS 15 SPLIT COUPLER	25.716/ea	25.72
	(150/PALLET)		

^{**} Continued on Next Page **

NATIONAL WHOLESALE SUPPLY BR28 1405 WEST FERGUSON ROAD MOUNT PLEASANT, TX 75455 Phone 903-577-5640 Fax 903-577-5697

Quotation

EXPIRATION DATE	QUOTE NUMBER	PAGE NO.
08/03/2022	S4053571	3 of 3

ORDER QTY	DESCRIPTION	UNIT PRICE	EXT PRICE
1ea	1865AA ADS 18 SPLIT COUPLER	43.830/ea	43.8
	(150/PALLET)		
1ea	24 65AA ADS 24 SPLIT COUPLER	61.807/ea	61.8
	(100/PALLET)		
1ea	3065AA ADS 30 SPLIT COUPLER	143.693/ea	143.6
	(50/PALLET)		
1ea	3661AA ADS 36 SPLIT COUPLER	199.932/ea	199.9
	(50/PALLET)		
1ea	4265AA ADS 42 SPLIT COUPLER	292.648/ea	292.6
	(25/PALLET)		
1ea	4865AA ADS 48 SPLIT COUPLER	343.534/ea	343.5
104	(25/PALLET)		
162	6065AA ADS 60 SPLIT COUPLER	534.398/ea	534.4
Tea	(25/PALLET)	004,000/04	00 1.4
	(20/17/EEET)		
anal Mhalasala (Supply is placed to provide year with this project		
onal vynolesale s te: however due	Supply is pleased to provide you with this project to the unprecedented lack of product	Subtotal	29848.3
lability, we cannot	t guarantee the availability dates of these	S&H Charges	0.0
lucts. We reserve	e the right to adjust pricing should we receive a	Odi i Onarges	0.0
eturns must be b	tion from the vendor. Freight charges to follow. re-authorized and re-stocking and return	Amount Due	29848.
ht charges will a	oply. Quotes are valid for 24 hours and our	7 tillouit Duo	
dard Terms of Sa	ale apply. We thank you for your business.		A504

Printed By: OWEJER on 8/9/2022 9:06:39 AM CDT

THIS IS ADDENDUM #1 DATED 8-2-2022 TO THE CULVERT BID # 2022-005, DEADLINE AUGUST 15, 2022 AT 4:30 PM.

DOMESTIC PREFERENCES FOR PROCUREMENTS

As appropriate and to the extent consistent with law, the County will, to the greatest extent practicable under a federal award, provide a preference for the purchase, acquisition, or use of goods, products, or materials produced in the United States (including but not limited to iron, aluminum, steel, cement, and other manufactured products) as set forth in 2 C.F.R.

§200.322. The requirements of this section must be included in all subawards including all contracts and purchase orders for work or products under this award.

PROCUREMENT OF RECOVERED MATERIALS

The County and its contractors will comply with section 6002 of the Solid Waste Disposal Act, as amended by the Resource Conservation and Recovery Act as set forth in 2 C.F.R. §200.323. The requirements of Section 6002 include procuring only items designated in guidelines of the Environmental Protection Agency (EPA) at 40 CFR part 247 that contain the highest percentage of recovered materials practicable, consistent with maintaining a satisfactory level of competition, where the purchase price of the item exceeds \$10,000 or the value of the quantity acquired during the preceding fiscal year exceeded \$10,000; procuring solid waste management services in a manner that maximizes energy and resource recovery; and establishing an affirmative procurement program for procurement of recovered materials identified in the EPA guidelines.

END OF ADDENDUM.

8 70 of 8

SAMPLE CONTRACT

THIS AGREEMENT made this the 22	2nd day of August ,2022 by and between: See Note	l Below.
1.	(a corporation organized and existing under t	the laws of the State of
), OR 2.	(a partnership consisting of), OR
	(a partier strip consisting of), OR
3.	(an individual trading as) hereinafter
called the "Contractor" and TITUS	COUNTY, Mt. Pleasant, Texas.	
WITNESSETH, that the Coragree as follows:	ntractor and the County for the considerations stated	herein mutually
or delivered as requested by the commis the American Rescue Plan Act, all in s	Contractor shall furnish culverts either picked up by sioner for the GENERAL DRAINAGE IMPROVES strict accordance with the contract documents included and, all as prepared by the contract documents included and, all as prepared by the contract documents included and, all as prepared by the contract documents included and, all as prepared by the contract documents included and, all as prepared by the contract documents included and, all as prepared by the contract documents included and, all as prepared by the contract documents included and	MENT PROJECT of ling all addenda
Special Notes: Note 1. Fill in applicable sections and st	trike out type of business organizations not applicab	ile.
Contract in current funds, for the tota in the Bid for the several respective i	The County will pay the Contractor for the perfoll quantities of merchandise purchased at the unterms of work completed subject to additions and on original invoices in compliance with bid ra	it prices stipulated deductions as
ARTICLE 3. The Contract. The execute	ed contract documents shall consist of the following	components:
This Agreement (pages 1-2) Addenda, if any Invitation for Bids Instructions to Bidders Newspaper Notice	f. General Conditionsg. Technical Specifications – Culvertsh. Bid Sheets signed by Contractor	

ARTICLE 4. Performance. Purchase of culverts in accordance with the contract dated August 22, 2022 shall commence on or after September 1, 2022. The date of completion of all purchasing under this contract is August 31, 2023 unless extended by the contractor and County and approved by the Titus County Commissioners' Court in compliance with the requirements of the American Rescue Plan Act – Department of the Treasury.

47048

This Agreement, together with other documents enumerated in this ARTICLE 3, which said other documents are as fully a part of the Contract as if hereto attached or herein repeated, forms the Contract between the parties hereto. In the event that any provision in any component part of this Contract conflicts with any provision of any other component part, the provision of the component part first enumerated in this ARTICLE 3 shall govern, except as otherwise specifically stated.

IN WITNESS WHEREOF, the parties hereto have caused this Agreement to be executed in *triplicate* original copies on the day and year first above written. (Note 2)

(The Contractor)	_	
(The Contractor)		
By[Note	3]	
Title		
(County)	_	
Ву		
Title	_	
Special Notes: Note 2. The number of copies to be exe Such additional signed copies shall b Note 3. Supply a description of the C	e prepared as may be required by the	
Corporate Certifications		
		of the corporation named as
Contractor herein; that	, who signed this	Agreement on behalf of the Contractor,
		id Agreement was duly signed for and in
behalf of said corporation by authorit		
Corporate		
Seal	(Corporate Secretary)	